
G–121 

(Assignment Work)

(Group–I)
 FINANCIAL ACCOUNTING

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          

mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr 
iz'u 01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼ 19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr 
iz'u 04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  
08 vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

[k.M&v 
(Section—A) 

1- ys[kkadu gS % 

¼v½ dyk 

¼c½ foKku 

¼l½ nksuksa ¼v½ vkSj ¼c½ 

¼n½ mi;qZDr esa ls dksbZ ugha 

Accounting is : 

(a) Arts 

(b) Science 

(c) Both (a) and (b) 

(d) None of the above 

2- jkstukepk D;k gS \ 
What is Journal ? 



3- LFkk;h fd’r i)fr ls gkl dk lw= fyf[k,A 
Write the formula of depreciation for fixed investment method. 

4- /ku leiZ.k dks”k D;k gS \ 
What is Endowment Fund ? 

5- ‘kk[kk,¡ fdrus izdkj dh gksrh gSa \ 
How many types of branches are there ?  

6- C;kt dh x.kuk fof/k dk lw= fyf[k,A 
Write the formula for method of calculation of interest. 

7- ykHkksa dk forj.k D;k gS \ 
What is Distribution of Profits ? 

8- [;kfr ds ewY;kadu dk lw= fyf[k,A 
Write the formula of value of Goodwill. 

[k.M&c 
(Section—B) 

9- ys[kkadu dh izdf̀r crkb,A 
State the nature of Accounting. 

10- v’kqf);ksa ds lq/kkj ls vki D;k le>rs gSa \ 
What do you understand by rectification of errors ?  

11- gkl yxkus dh ljy js[kk fof/k vkSj gkl ‘ks”k/ku fof/k esa vUrj Li”V dhft,A 

Differentiate between straight line and diminishing balance as method of providing 
depreciation. 

12- fdjk;k Ø; rFkk m/kkj Ø; esa vUrj crkb,A 
What is the difference between hire purchase and purchase on credit ? 

13- lk>snkjh lays[k dks le>kb,A 
Discuss partnership deed. 

14- QeZ ds fo?kVu ls vki D;k le>rs gSa \ 
What do you understand by Dissolution of Firm ? 

[k.M&l 
(Section—C) 

15- uoEcj 2021 ekg ds fuEufyf[kr lkSnksa dks lk/kkj.k jksdM+cgh esa fyf[k, % 



uoEcj 
2021 

 

` 

1 gLrLFk jksdM+ 12,500 

4 gfj dks uxn Hkqxrku fd;k 600 

7 eky dh eky [kjhnh dh 800 

12 vfer ls udn ik;k 1,960 

16 eky dh udn fcØh dh 800 

20 euh”k dks Hkqxrku fd;k 590 

25 <qykbZ dk Hkqxrku fd;k 100 

31 osru fn;k 1,000 

Record the following transactions in simple cash book for November 2021 :  

Nov. 
2021 

 
` 

1 Cash in hand 12,500 

4 Cash paid to Hari 600 

7 Purchased goods 800 

12 Cash received from Amit 1,960 

16 Sold good for cash 800 

20 Paid to Manish 590 

25 Paid Cartage 100 

31 Paid Salary 1,000 

16- ,d e’khu dk vuqekfur thoudky 6 Ok”kZ gSA bl e’khu dk iz;ksx ,d vU; midj.k ds lkFk fd;k 

tkrk gSA ftldk thoudky 10 o”kZ gSA e’khu dh ykxr ,oa vU; midj.k dh ykxr Øe’k% ` 

60]000 o ` 6]000 gSA nksuksa gh lEifŸk dk vo’ks”k ewY; ‘kwU; gSA gkl dh lh/kh js[kk i)fr }kjk 

yxk;k tkrk gSA o”kZ ds gkl dh x.kuk dhft,A 

The estimated working Life of a machine is 6 years. The machine is used with an 

attachment. Having a useful life of 10 years. The cost of machine and that of the attachment 

are ` 60,000 and ` 6,000 respectively. The terminal value is zero for both. Depreciation is 

charged as per straight line method. Calculate the amount of depreciation for the year. 



17- ,d O;fä us fdjk;k&Ø; i)fr ij ,d e’khu fdjk;k&foØsrk ls Ø; dhA mlus ` 600 rqjUr udn 

fn, vkSj izFke o”kZ ds vUr esa ` 640] f}rh; o”kZ ds vUr esa ` 890 vkSj r`rh; o”kZ ds vUr esa ` 880 

fn,A jksdM+ ewY;  10% izfr o”kZ C;kt gSA fdjk;k&foØsrk dh iqLrdksa esa fdjk;s ij Ø; djus okys 

dk [kkrk [kksfy,A 

A man brought a machine from hire vender on hire-purchase method. He paid ` 600 cash 

down, ` 640 at the end of the first year ` 890, at the end of the second year and ` 880 at the 

end of the third year. The interest on cash price is 10% per annum. Write up the  

hire-purchaser’s account in the books of hire-vendor. 

18- ykHk&izkfIr vuqikr dk vFkZ mnkgj.k lfgr crkb,A 

Explain the meaning of gaining ratio with example. 

[k.M&n 

(Section—D) 

19- v’kks/; _.k ds ` 2]500 31 ekpZ] 2021 dks lekIr gksus okys o”kZ esa gq,A ` 3]000 dh v’kks/; _.k 
izko/kku dh ckdh xro”kZ ls vkxs yk;h x;hA bl o”kZ ` 1]750 dk izko/kku v’kks/; _.kksa ds fy, fd;k 
x;kA 2019 esa ?kksf”kr fd;s x;s v’kks/; _.kksa esa ls 5 uoEcj] 2020 dks ` 880 vuk;kl izkIr gks x;sA 
bl lEcU/k esa v’kks/; _.k izko/kku [kkrk ,oa v’kks/k _.k [kkrk cukb, rFkk tuZy ds ys[ks Hkh 
dhft,A 

Bad debts amounted to ` 2,500 during the year ending 31 March, 2021 and a balance of ` 
3,000 of provision for bad debts was brought forward from last year. This year a provision 
of ` 1,750 was made for the provision for bad debts. Account A sum of ` 880 declared as bed 
during 2019 was recorded on 5th Nov., 2020 show bad debts Provision Account and Bad 
Debts Account and also pass necessary journal entries. 

20- izkfIr ,oa Hkqxrku [kkrs ls vk;&O;; [kkrk rS;kj djus dh izfØ;k dks le>kb,A 

Discuss the procedure necessary to prepare and Income and Expenditure Account from 
Receipts and Payments Accounts.  

21- fons’kh ‘kk[kk ds ryiV dks iz/kku dk;kZy; dh eqnzk esa ifjorZu djus lEcU/kh fu;eksa dks le>kb,A 

Explain the rule relating to conversion of Trial Balance of a foreign branch in the currency 

head office.  



22- A, B vkSj C ,d /kEkZ ds leku lk>snkj gaSA 1 tuojh 2021 dks mudh iw¡th Øe’k% 14]000( ` 16]000 

vkSj  18]000 FkhA o”kZ 2021 ds Ok”kZ ds [kkrs cUn djus ds i’pkr~ ;g irk pyk fd lk>snkjh lays[k 

ds vuqlkj ykHk ds foHkktu ds iwoZ iw¡th ij  izfr o”kZ C;kt dh O;oLFkk ugha dh xbZ gSA lk>snkjksa esa 

;g r; gqvk fd fpës esa ifjorZu djus ds LFkku ij vxys o”kZ ds izkjEHk esa bl lek;kstu ds fy, 

izfof”V dj nh tk;sA ;g ekurs gq, fd iw¡th LFkk;h ugha gS tuZy dh vko’;d izfof”V dhft,A 

A, B and C are equal partners in a firm. Their capitals on 1st January, 2021 were ` 14,000 ` 

16,000 and  18,000 respectively. After closing the account of 2021 it was discovered that 

according to the partnership deed interest @ 5% per annum on partners capital was not 

provided before distribution of profit it was agreed amongst the partners to make the 

adjustment entry at the beginning of the next year rather than to alter the Balance Sheet. Pass 

the necessary journal entry assuming that the capital are not fixed. 

[k.M&b 
(Section—E) 

23- ,d O;kikjh dh cfg;ksa esa 31 ekpZ] 2021 dks fuEufyf[kr ryiV Fkk % 

 ` 

jgfr;k ¼1 vizSy] 2020½ 2,200 

Ø; 12,000 

eky ij HkkM+k 140 

etnwjh dj dkVdj 400 

osru 1,600 

dj vkSj C;kt 400 

lkekU; O;; 800 

v’kks/; _.k 200 

jksdM+ 250 

cSad 2,000 

vkgj.k 690 

nsunkj 2,100 

Hkou 4,720 



dqy 27,500 

 

 ` 

foØ; 15,800 

deh’ku 670 

C;kt 40 

iw¡th 9,000 

ysunkj 1,540 

ns; foi= 450 

dqy 27,500 

mi;ZqDr ls rFkk fuEukafdr lek;kstu ds vk/kkj ij 2021 o”kZ ds fy, vafre [kkrs cukb, % 

(i)  ` 150 osru vkSj ` 50 djds nsuk ckdh gS ijUrq ` 50 chek ds iwoZnŸk gSaA 

(ii)  ,d xzkgd ls ` 120 dk eky okil vk;k vkSj bls jgfr;k esa ys tk;k x;k ijUrq iqLrdksa esa 

dksbZ izfof”V ugha dh x;hA 

(iii)  vxys o”kZ ds fy, ` 150 deh’ku is’kxh izkIr gqvkA 

(iv)  Hkou ij 10% kl dkfV,A 

(v)  nsunkj ij 3% vizkIr _.k ds fy, izkok/kku dhft,A 

(vi)  31 ekpZ] 2021 dks jgfr;s dk ewY; ` 3]500 FkkA 

(vii)  etnwjh ls dkVk x;k dj ` 10 FkkA 

(viii)  ekxZLFk eky ` 200 gSA 

The following Trial Balance appeared on 31st March, 2021 in the books of a trader : 

 ` 

Stock (1st, April, 2020) 2,200 

Purchases 12,000 

Freight on Goods 140 



Wages after deduction tax 400 

Salaries 1,600 

Taxes and Interest 400 

General Expenses 800 

Bad Debts 250 

Cash 200 

Bank 2,000 

Drawings 690 

Debtors 2,100 

Buildings 4,720 

Total 27,500 

 

 ` 

Sales 15,800 

Commission 670 

Interest 40 

Capital 9,000 

Creditors 1,540 

Bills Payable 450 

 27,500 

From the above and on the basis of under  mentioned adjustments, prepare final accounts for 

the year 2021 : 

(i)  Salaries ` 150 and taxes ` 50 have yet to be paid but insurance ` 50 are prepaid. 

(ii)  Goods worth ` 120 were returned by a customer and taken into stock but no entry 

therefore was made in the books. 

(iii)  Commission ` 150 has been received in advance in respect of next year. 



(iv)  Depreciate building by 10%. 

(v)  Make a provision for bad debts at 3% debtors. 

(vi)  Value of stock on 31st March, 2021 was ` 3,500. 

(vii)  Tax deducted from wages amounted to ` 10. 

(viii)  Goods in transit ` 200. 

24- v] c] l 2 % 3 % 5 ds vuqikr esa ykHkksa vkSj gkfu;ksa dks ck¡Vrs gq, lk>snkj FksA 30 vizSy] 2018 dks 

mUgksaus ` 80]000 dh ,d la;qDr chek ikWfylh yh ftldk okf”kZd izhfe;e ` 3]000 fn;k tkrk FkkA 28 

vxLr] 2021 dks v dh eR̀;q gks x;h vkSj 20 vDVwcj] 2021 dks chek dk nkok olwy gks x;kA 

lk>snkjh QeZ dk [kkrk izfro”kZ 31 ekpZ dks cUn gksrk gSA vko’;d jkstukepk izfof”V;k¡ nhft, ;fn 

izhfe;e dks O;kikfjd O;; ekuk tkrk gSA 

A, B, C were partners sharing profit and losses in the ratio of 2 : 3 : 5 on 30th April, 2018 

they took a joint life policy for ` 80,000 paying ` 3,000 as annual premium on 28th August, 

2021 A died and the insurance claim was received on 20th October, 2021 the books of firm 

were closed on 31st March, every year. Pass necessary journal entries when premium is 

treated as business expenses. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 

 

 



G–122 

(Assignment Work)

(Group–I)

 BUSINESS MATHEMATICS

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          

mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr 
iz'u 01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼ 19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr 
iz'u 04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  
08 vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

[k.M&v 
(Section—A) 

1- Qyu D;k gS \ 
What is Function ? 

2- vkO;wg D;k gS \ 
What is Matrix ? 

3- ‘kwU; vkO;wg D;k gS \ 
What is Nullity Matrix ? 

4- fu.kZ; pj D;k gSa \ 
What is Decision Variables ? 

5- lerk vuqikr dks fyf[k,A 
Write the Equality Ratio. 

6- pØòf) C;kt dk lw= fyf[k,A 
Write the formula of compound interest. 



7- okf”kZdh dh fd’r D;k gS \ 
What is instalment of annuity ? 

8- vkSlr dk lw= fyf[k,A 
Write the formula of Average. 

[k.M&c 
(Section—B) 

9- vodfyr dhft, % 
4 37 2 8 7x x x     

Differentiate : 
4 37 2 8 7x x x    

10- fuEufyf[kr Qyu ls f}rh; Øe dk vodyu Kkr dhft, % 
3 24ax x cx d     

Find the second order derivative of the following function : 
3 24ax x cx d    

11- vkO;wg ds dkSu&dkSu ls izdkj gksrs gSa \ 

What are the different types of matrices ? 

12- js[kh; izØeu ls vki D;k le>rs gSa \ 
What do you understand by Linear Programming ? 

13- ‘kks/ku fuf/k D;k gS \ 
What is Sinking Fund ? 

14- deh’ku ls D;k vk’k; gS \ 
What is the meaning of Commission ? 

[k.M&l 
(Section—C) 

15- Qyu  
3 22 15 36 11y x x x      

ds mPpre o fuEure eku Kkr dhft,A 
Find the maximum and minimum values of the function : 

3 22 15 36 11y x x x     

16- js[kh; izØeu leL;k dh izeq[k fo’ks”krk,¡ crkb,A 
Give various characteristics of Linear Programming Problem.  



17- lk/kkj.k C;kt dh fdl nj ls dksbZ /ku 16 o”kZ esa nksxquk gks tk;sxk \ 
At what rate percent simple interest a sum will double itself in 16 years ? 

18- lksgu us ,d iqjkuh dkj [kjhnhA og mls 10% ykHk ij csp ldrk gSA ,d nyky mlh dkj dks 
15% ykHk ij fcdok ldrk gS ijUrq og 3% nykyh ysxkA ;fn nyky ds ekQZr dkj cspus esa eksgu 
dks ` 124 vf/kd ykHk gksrk gS] rks crkb, mlus dkj fdrus esa [kjhnh Fkh \ 
Sohan purchased an old car the can sell it at 10% profit. An agent can sell it at 15% profit 

but will charge his commission at 3%. If Sohan gains ` 124 more through the agent, what is 

the cost price of the car ? 

[k.M&n 

(Section—D) 

19- y?kqx.kd lkj.kh dh lgk;rk ls fuEufyf[kr ds eku Kkr dhft, % 

¼v½  494.2   

¼c½ 3 .00034   

Find the value of the following with the help of log table : 

(a)  494.2  

(b) 3 .00034  

20- fdlh dk;Z dks 12 O;fDr 8 ?k.Vs izfrfnu djds 10 fnuksa esa lekIr djrs gSa] rks 20 O;fDr 6 ?k.Vs 

izfrfnu dk;Z djds mlh dk;Z dks fdrus fnuksa esa lekIr djsaxs \ 

12 men complete a work in 10 days working 8 hours daily. How many days will be taken by 

20 men to complete the same work working 6 hours daily ? 

21- fdrus o”kZ ckn 10% okf”kZd nj ls ` 2]000 dk pØòf) C;kt ` 662 gks tk;sxk \ 

After how many years ` 2,000 will earn a compound interest of ` 662 at the rate of 10% per 

annum ? 

22- ,d oLrq ftldh ykxr ` 250 gS mls fdrus ewY; ij vafdr fd;k tk;s fd 5% cêk nsus ds ckn Hkh 

14% ykHk dek;k tk lds \ 

At what price must article costing ` 250 be marked so that a profit of 14% may be realised 

after allowing a discount of 5% ? 



[k.M&b 

(Section—E) 

23- ;fn 
1 2 3

A 2 2 3

3 2 3

 
   
  

 vkSj 
4 5 6

B 5 5 6

6 5 6

 
   
  

] rks fl) dhft, fd AB BA A 

If A = 

1 2 3

2 2 3

3 2 3

 
 
 
  

 and 

4 5 6

B 5 5 6

6 5 6

 
   
  

, then prove that AB   BA. 

24- larjksa dh dher esa 20% dh deh ,d O;fä dks bl ;ksX; cukrh gS fd og ` 10 esa 5 larjs vkSj 

[kjhn ldsA de gqbZ dher rFkk deh ls igys dh dher Kkr dhft,A 

A reduction of 20% in the price of oranges enables a man to buy 5 oranges more for ` 10. 

Find the reduced price and the price before reduction. 

 
 
 

 

 
 

 

 



G–123 

(Assignment Work)

(Group–II)

 O;kolkf;d lapkj ,oa lEizs”k.k

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          

mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr 
iz'u 01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr 
iz'u 04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  
08 vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

[k.M&v 

(Section—A) 

1- Jksrk tks lans’k dh iqf”V ds mijkar gh mls fØ;kfUor djrk gS] mls ------------------- Jksrk dgk tkrk gSA 

The listener who executes the message only offer it has been confirmed is called ...................  

listener.   

2- ekSf[kd lapkj dk ,d mnkgj.k fyf[k,A 

Write an example of verbal communication. 

3- Hkk”k.k ds fdrus izeq[k izdkj gksrs gSa \ 

How many key types of speech are there ? 

4- yEcor~ lEizs”k.k ds fdrus izdkj gksrs gSa \ 

How many types of vertical communication are there ? 



5- bysDVªkWfud ysu&nsu dks ------------------ dgk tkrk gSA 

Electronic transactions are called as ........... 

6- vkosnu i= ds fdl vuqPNsn esa vius O;fDrxr xq.kksa ,oa n`f”Vdks.k dks crkuk gksrk gS \ 

In which paragraph of the application form you have to tell about your personal qualities and 

attitude ? 

7- ------------------- lEizs”k.k dk Lo:i LFkk;h ugha gksrkA 

The nature of ............... communication is not stable. 

8- ßân; dk ekxZ dku gSAÞ ;g dFku fdldk gS \ 

“Me way to heart is ear.” Whose statement is this ? 

[k.M&c 

(Section—B) 

9- vkUrfjd lapkj D;k gS \ 

What is internal communication ? 

10- izHkkoh lapkj ds lkr C’s D;k gS \ 

What is Seven C’s effective communication ? 

11- vukSipkfjd lewg ls D;k vk’k; gS \ 

What do you mean by informal group ? 

12- izfrosnu ds y{k.k dks Li”V dhft,A 

Explain the features of report. 

13- lk{kkRdkj ds mís’; D;k gSa \ 

What are the objectives of interview ?  

14- ewY;kadu lk{kkRdkj ls vki D;k le>rs gSa \ 

What do you understand by appraisal interview ? 

 



[k.M&l 

(Section—C) 

15- laO;ogkj fopkj/kkjk ij fVIi.kh fyf[k,A 

Write a note on Transaction theory. 

16- ys[ku n{krk dk vk’k; Li”V dhft,A 

Explain the meaning of writing skills. 

17- lapkj esa ck/kkvksa ds nq”izHkko dks crkb,A 

State the bad effects of barrier to communication. 

18- Jo.krk ¼lquus½ dh egŸkk dks Li”V dhft,A 

Elucidate the significance of listening.  

[k.M&n 

(Section—D) 

19- lapkj dk oxhZdj.k Li”V djrs gq, lapkj esa iz;qDr fn’kkvksa dks o.kZu dhft,A 

Explain the classification of communication and describe the directions used in 

communication. 

20- lapkj dh izeq[k ck/kk,¡ dkSu lh gSa \ bu ck/kkvksa dks nwj djus ds lq>ko nhft,A 

What are the main barriers of communication ? Give suggestion to overcome these barriers.  

21- viuh ilan dk fo”k; p;u dj ,d f’kdk;r i= fyf[k,A 

Write a complaint letter taking subject of your own preference.  

22- O;kikj esa iz;qDr lapkj ds vk/kqfud Lo:iksa dh O;k[;k dhft,A 

Explain modern forms of communication used is business. 

[k.M&b 

(Section—E) 

23- O;kikfjd i= ds dk;Z] mís’;] rRoksa rFkk la?kVdksa dk foLrr̀ o.kZu dhft,A 



Describe in detail the functions, objectives, elements and constituents of business letter. 

24- Jksrk fo’ys”k.k ls D;k vk’k; gS \ bldh izfØ;k dk foLrr̀ fo’ys”k.k dhft,A 

What is meant by Audience Analysis ? Give details of its process. 

 

 
 
 
 
 
 
 

 

 
 

 

 



G–124 

(Assignment Work)

(Group–II)
 O;kolkf;d fu;eu ,oa :Ikjs[kk

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          

mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr 
iz'u 01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼ 19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr 
iz'u 04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  
08 vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 [k.M&v 

(Section—A) 

1- feF;ko.kZu gksrk gS % 

¼v½ Kkuo’k 

¼c½ vKkuo’k 

¼l½ Kkuo’k o vKkuo’k nksuksa 

¼l½ buesa ls dksbZ ugha 

Misreprentation is done : 

(a) Knowingly 

(b) Innocent 

(c) Both knowingly and innocent 

(d) None of these 

2- ikjLifjd opuksa dk fu”iknu ------------- gksrk gSA  ¼,dlkFk@vyx&vyx½ 



Reciprocal promises are to be performed ............   (Simultaneously/Separately) 

3- fuEufyf[kr esa ls dkSu&lk O;kikfjd izfrfuf/k gS \ 

¼v½ ifr 
¼c½ iRuh 
¼l½ laj{kd 
¼n½ oS/kkfud lykgdkj 
Which of the following is a mercantile agent ? 

(a) Husband 

(b) Wife 

(c) Guardian 

(d) Legal Advisor 

4- foØ; vuqcU/k esa LoRo xfHkZr vko’oklu gksrk gS \       
 ¼lR;@vlR;½ 

In a contract of sale title is an implied warranty.       
  (True/False) 

5- vfHkgLrkadurk esa izfrQy dk gksuk ----------------- gSA 
In assignability the existence of considered is .........  

6- pSd ds -------------------- i{kdkj gksrs gSaA (2/3/4) 
There are ............... parties of a cheque. (2/3/4) 

7- Qsek ij jk”Vªifr us viuh Lohd`fr nh % 

¼v½ 9 fnlEcj] 1999 dks 

¼c½ 12 fnlEcj] 2000 dks 

¼l½ 18 fnlEcj] 2000 dks 

¼n½ 26 fnlEcj] 2000 dks 
When President given acception on FEMA ? 

(a) 9 December, 1999 

(b) 12 December, 2000 

(c) 18 December, 2000 

(d) 26 December, 2000 

8- miHkksDrk laj{k.k vf/kfu;e] 1967 esa ikfjr gqvk FkkA     ¼lR;@vlR;½ 
The Consumer Protection Act was passed in 1967. (True/False) 

 



[k.M&c 
(Section—B) 

9- vi;kZIr izfrQy ls D;k vk’k; gS \ 
What is meant by inadequate consideration ? 

10- fu”iknu ls eqfDr D;k gS \ 
What is Exoneration ? 

11- foØ; vuqcU/k dk fuekZ.k dSls gksrk gS \ 

How is contract of sale created ? 

12- ukWd vkmV le>kSrk D;k gS \ 

What is Knock out agreement ? 

13- i{kdkjksa dh {kerk ls D;k vk’k; gS \ 

What is meant by capacity to parties ? 

14- ykssd izkf/kdkfj;ksa dh ck/;rk,¡ crkb,A 

Discuss the obligations of public authorities. 

[k.M&l 

(Section—C) 

15- gkfuj{kk vuqcU/k D;k gS \ gkfuj{kk/kkjh ds vf/kdkj dks le>kb,A 

What is contract of indemnity ? Explain the rights of indemnityholder. 

16- fdjk;k&[kjhn Bgjko rFkk foØ; esa vUrj Li”V dhft,A 

Explain the difference between hire-purchase agreement and sale. 

17- vfHkgLrkadurk rFkk ijØke.krk esa D;k vUrj gS \ 

What is the difference between assign ability and negotiability ? 

18- dsUnzh; miHkksDrk laj{k.k ifj”kn~ ij fVIi.kh fyf[k,A 

Write a note on Central Consumer Protection Council. 

 

 



[k.M&n 

(Section—D) 

19- ^izLrko* o ^Lohd`fr* dks ifjHkkf”kr dhft,A Lohdf̀r lEcU/kh fu;eksa dh foospuk dhft,A 

Define ‘Proposal’ and “Acceptance’. Explain the rules regarding acceptance. 

20- ,tsUlh dh ifjHkk”kk nhft,A ;g fdl izdkj mRiUu gksrh gS \ 

Define agency. How is it created ? 

21- ^ijØkE; foys[k* dh ifjHkk”kk nhft, o bldh fo’ks”krkvksa dk o.kZu dhft,A 

Define a ‘negotiable Instrument’ and state its characteristics. 

22- lwpuk dk vf/kdkj vf/kfu;e] 2005 dks le>kb,A 

Explain the Right to Information Act, 2005. 

[k.M&b 

(Section—E) 

23- fu{ksi D;k gS \ fu{ksih ,oa fu{ksix`ghrk ds drZO; o vf/kdkj crkb,A 

What is Bailment ? State the duties and rights of the bailor and bailee. 

24- fofue;lk/; ys[k&i= ds fuekZrk] LohdrkZ rFkk i`”BkadudrkZ ds vf/kdkjksa rFkk nkf;Roksa dk o.kZu 

dhft,A 

Enumerate the rights and liabilities of a maker, acceptor and endorser of a negotiable 

instrument. 

 
 
 
 
 
 
 
 
 

 

 
 

 

 



G–125 

(Assignment Work)

(Group–III)
 

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          

mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr 
iz'u 01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr 
iz'u 04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼ 23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr 
iz'u  08 vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

[k.M&v 

(Section—A) 

1- ^vFkZ’kkL=* uked iqLrd ds ys[kd dkSu Fks \ 

Who was the author of the book titled ‘Economics’ ? 

2- ek¡x ,oa dher esa lEcU/k fdl izdkj gksrk gS \ 

How is the relationship between demand and price ?  

3- mRiknu dh ek=k esa ifjorZu dk izHkko fdl ij iM+rk gS \ 

What is effect of change in the quantity of production ? 

4- fLFkj ykxrsa D;k gksrh gSa \ 

What are the fixed costs ? 



5- cktkj ds fy, lokZf/kd vko’;d rRo D;k gS \ 

What is most important element for the market ? 

6- QeZ ds lkE; dh igyh ‘krZ D;k gS \ 

What is the first condition of equilibrium of the firm ? 

7- etnwjh dh vf/kdre lhek fu/kkZfjr djus okyk rRo dkSu&lk gS \ 

What is the determining factor in the ceiling of wages ? 

8- ykHk ds vfuf’prrk ogu fl)kUr dk izfriknu fdlds }kjk fd;k x;k \ 

The uncertainty carrying principle of profit was formulated by .............. . 

[k.M&c 

(Section—B) 

9- izks- ts- ds- esgrk us vFkZ’kkL= dks fdl :i esa ifjHkkf”kr fd;k gS \ 

In what way has Prof. J. K. Mehta defined Economics ? 

10- dher la;U= dh fØ;k’khyrk crkb,A 

Explain the working of price mechanism. 

11- volj ykxr dh vo/kkj.kk dks Li”V dhft,A 

Explain the concept of opportunity cost. 

12- cktkj dh izeq[k fo’ks”krk,¡ crkb,A 

State and main features of the market. 

13- O;qRié ek¡x fdls dgrs gSa \ 

What is derived demand ? 

14- vkHkkl yxku dks Li”V dhft,A 

Explain the quasi rent. 

 

 



[k.M&l 

(Section—C) 

15- mRiknu Qyu dh fo’ks”krk,¡ crkb,A 

Mention the characteristics of production function. 

16- fLFkj ykxr vkSj ifjorZ’khy ykxr esa vUrj Li”V dhft,A 

Differentiate between the fixed cost and variable cost.  

17- iw.kZ vkSj viw.kZ cktkj esa Hksn dhft,A 

Distinguish between perfect and imperfect market. 

18- C;kt nj esa fHkUurk ds D;k dkj.k gSa \ 

What are the reasons of difference rate of interest ? 

[k.M&n 

(Section—D) 

19- vkuqikfrdrk ds fu;e ds vk/kqfud n`f”Vdks.k dh O;k[;k dhft,A 

Discuss the modern viewpoint of law of proportionality. 

20- lhekar ykxr js[kk vkSlr ykxr js[kk dks blds U;wure fcUnq ij D;ksa dkVrh gS \ 

Why does the marginal cost curve cut the average cost curve at its lowest point ? 

21- cktkj dh ifjHkk”kk nhft,A blds fofHkUu izdkjksa dk o.kZu dhft,A 

Define market. Explain various types of market. 

22- lk/ku dher ds vk/kqfud fl)kUr dh O;k[;k dhft,A 

Explain the modern theory of factor pricing. 

[k.M&b 

(Section—E) 

23- dher izfØ;k D;k gS \ dher izfØ;k ;k dher rU= dh ewYkHkwr fo’ks”krk,¡ fyf[k,A 



What is price process ? Write the fundamental features of price process or price mechanism. 

24- ßC;kt rjyrk ds ifjR;kx dh dher gSAÞ foospuk dhft,A 

“Interest is the price of for parting with liquidity.” Discuss. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 

 

 



G–126 

(Assignment Work)

(Group–III)

 O;kolkf;d i;kZoj.k 

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          

mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr 
iz'u 01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr 
iz'u 04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  
08 vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

[k.M&v 
(Section—A) 

1- FEMA dks iw.kZ :i esa fyf[k;sA 
Write the full form of FEMA. 

2- FDI dks iw.kZ :i esa fyf[k;sA 
Write the full form of FDI. 

3- GNP dks iw.kZ :i esa fyf[k;sA 
Write the full form of GNP. 

4- EXIM uhfr dks iw.kZ :i esa fyf[k;sA 
Write the full form of EXIM Policy. 

5- IMF dks iw.kZ :i esa fyf[k;sA 
Write the full form of IMF. 



6- Hkkjr esa fdl o”kZ esa mnkjhdj.k] futhdj.k o oS’ohdj.k uhfr ykxw gqbZ \ 
In which year in India the policy for Liberalization, Privatization and Globalization wave 
introduced ? 

7- izFke vkS|ksfxd uhfr dh ?kks”k.kk fdlus dh Fkh \ 
Who announces the first industrial policy ? 

8- iz/kkuea=h xzkeksn; ;kstuk fdl o”kZ izkjaHk gqbZ Fkh \ 
In which year the ‘Pradhanmantri Gramodaya Yojana was started ? 

[k.M&c 
(Section—B) 

9- izfr&O;kikj ls vkidk D;k vk’k; gS \ 

What do you mean by counter trade ? 

10- izR;{k fons’kh fuos’k ls D;k vk’k; gS \ 
What is meant by Foreign Direct Investment ? 

11- vUrjkZ”Vªh; eqnzk dks”k D;k gS \ 
What is IMF ? 

12- fo’o cSad D;k gS \ 
What is World Bank ? 

13- xSV dk o.kZu dhft,A 
Describe GATT. 

14- ,isd D;k gS \ 
What is APEC ? 

[k.M&l 
(Section—C) 

15- vUrjkZ”Vªh; O;kikj D;k gS \ 
What is International Trade ? 

16- vUrjkZ”Vªh; O;kolkf;d i;kZoj.k ls D;k vk’k; gS \ 
What do you understand by International Business Environment ? 

17- ckjgoha iapo”khZ; ;kstuk ds mís’; bafxr dhft,A 
Enlist the objectives of 12th Five Year Plan. 

18- Qsjk rFkk Qsek esa vUrj dhft,A 



Distinguish between FERA and FEMA. 

[k.M&n 
(Section—D) 

19- voewY;kau dk D;k vk’k; gS \ blds dkj.k crkb,A 
What is meant by devaluation ? Discuss its causes. 

20- mnkjhdj.k ls vki D;k le>rs gSa \ blds mís’; crkb,A 
What do you understand by Liberalization ? Discuss its objectives. 

21- Hkkjr ljdkj dh orZeku vkS|ksfxd uhfr ds eq[; rRoksa dh foospuk dhft,A 
Explain the salient features of the present Industrial Policy of Government of India. 

22- ekSfnzd uhfr ls vki D;k le>rs gSa \ blds mís’; crkb,A 
What do you understand by Monetary Policy ? Explain its objectives. 

[k.M&b 
(Section—E) 

23- ¼v½ eqnzk LQhfr ds izdkj le>kb, rFkk Hkkjr esa eqnzk LQhfr dk o.kZu dhft,A 
Discuss the types of inflation and explain inflation in India. 

¼c½ csjkstxkjh ds fofHkUu izdkjksa ds ckjs esa crkb,A 
Discuss various forms of unemployment. 

24- ¼v½ dherksa esa òf) dks jksdus ds fy, ljdkj us dkSu&dkSu ls dne mBk;s gSa \ 

What measures are to adopted by the government to control price rise ? 

¼c½ eqnzk dh iwfrZ dks le>kb,A 
Discuss supply of money. 

——— 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 


